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Aufgabe 1
Quick:
6272

Wie viel Zeit ist zwischen linkem und rechtem Uhrenstand mindestens vergangen?

a)
+7:46−−−−→ b)

+5:54−−−−→

c)
+9:08−−−−→ d)

+9:04−−−−→

e)
+9:38−−−−→ f)

+0:51−−−−→

g)
+0:39−−−−→ h)

+3:39−−−−→

i)
+5:13−−−−→ j)

+5:31−−−−→

Aufgabe 2
Quick:
6272

Wie viel Zeit ist zwischen linkem und rechtem Uhrenstand mindestens vergangen?

a)
+0:29−−−−→ b)

+0:05−−−−→

c)
+0:10−−−−→ d)

+0:03−−−−→

e)
+0:16−−−−→ f)

+0:04−−−−→

g)
+0:28−−−−→ h)

+0:03−−−−→

i)
+0:16−−−−→ j)

+0:21−−−−→

Aufgabe 3
Quick:
6272

Wie viel Zeit ist zwischen linkem und rechtem Uhrenstand mindestens vergangen?
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c)
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+2:05−−−−→
1

2

3

4

5
6

7

8

9

10

11
12

e)

1

2

3

4

5
6

7

8

9

10

11
12
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1

2

3

4

5
6

7

8

9

10

11
12

Aufgabe 4
Quick:
6272

Wie viel Zeit ist zwischen linkem und rechtem Uhrenstand mindestens vergangen?

a)
+5:28−−−−→ b)

+4:42−−−−→

c)
+10:41−−−−→ d)

+2:24−−−−→

e)
+8:25−−−−→ f)

+9:41−−−−→

g)
+6:40−−−−→ h)

+1:53−−−−→

i)
+2:47−−−−→ j)

+9:11−−−−→

Viel Erfolg!
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